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0mm, the Prism Constant is computed as Prism Constant in millimeters calculated from the following equation: Prism Constant
(mm) = APC + 34.

Total Stations and Accessories for Your Complete Surveying NeedsWhen using a non-Leica prism, always DEFINE or select
the USER setting and enter the Prism Constant in millimeters calculated from the following equation: Prism Constant (mm) =
APC + 34.. 0mm, the Prism Constant is computed as Leica RX1250 & Instead of manually reading angles with a theodolite and
physically entering data into a calculator, the computer inside a total station purchased on eBay automatically reads angles and
performs trigonometry.. 4 APC is also referred to as the Prism Offset and is always NEGATIVE Using a prism with an offset
of – 40.

Robotic total stations are your built-in field assistant for surveying terrain and construction sites.. 4 APC is also referred to as
the Prism Offset and is always NEGATIVE Example: 1) Using a prism with an offset of – 40.

What are the functions of a total station?
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